mathrm a'N

= N
00) o
o o

=

mathrm d lambda
(@)]
o

I—‘pT
N
o

hrm d
H

I (@)) 0 o N

o o o o o

N
o

mathrm d N / mathrm d &mat

p)

N

Ratio to CMS

0.5

13000 GeV pp Jets
[T | Tt T T TTT | Tt T T T T | Tt T T T T | Tt T T T T | ] 9
B dc
_ o 45
- Multiplicity A_0° (charged only) (CMS jet substructure) 3
B 1=
_  m CMS 1=
| --0-- Pythia 6.428 345 ] A
IS £ Pythia 6.428 346 n 8
 —4A— Pythia 6.428 370 ] ;
B Pythia 6.428 default %

i >
—— —— Pythia 8.308 default —Z
] 1o
- - 1M
u — <
B ™
B o
- 10
(49)
B ]
- 15
__ - __ E
| ) —‘ ‘5‘\ ] IE‘
B i h N 1<
_ ; o
_ / I
n ) 1<
_ . 13
_ j 1°
e ) ‘o | §
N AN 1g
I = S S - nks
AR B L L H
5 32
1
B —0.5

multiplicity (charged-only)



	Contents
	Page 1


